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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 7,176,400
= 2,600,859
AN A2 = (XIXHA) 1,068,500 2,981,000 A 1,912,500
= 928,000
< 140,500
308 XX EHHSOIA 1,068,500 2,981,000 A 1,912,500
= 928,000
< 140,500
01 HIXNHHBNEES 1,012,500 2,925,000 21,912,500
ogets ZHIXA 1,012,500, 000 1,012,500
= 900,000
= 112,500
11 3I2SOIHEHE & X 2 A I 56,000 56,000 0
OHIHHEY AEHZA 56,000, 000 56,000
= 28,000
< 28,000
sl SdAE 1,786,840 1,723,600 63,240
= 1,441,000
< 345,840
403 X SHHSA=0l& 1,786,840 1,723,600 63,240
= 1,441,000
< 345,840
01 HIXESHMA2E X 1,786,840 1,723,600 63,240
Oltgzeldy s&8Xd 1,786,840,000 1,786,840
= 1,441,000
< 345,840
HEHS XA 627,400 648,405 A 21,005
201 L2l 8,500 9,900 A 1,400
01 At 22l 8,500 9,900 A 1,400
OXXOLYBINES IE 2L S(O&EZ)
8,500,000 8,500
307 glz2tol & 9,000 18,000 A 9,000
02 It M AHEE 9,000 18,000 A9,000
OfItitexd g92ds KA 9,000,000 9,000
308 XtXIEHH SOl A 480,900 548,625 AB7,725
01 AXHHILEES 480,900 548,625 AB7,725
onEdy 3x2gzs XA 394,260,000 394,260
OxgsE L& SItAtel =04 26,640,000 26,640
O30l &&tHE 24 60,000, 000 60,000
403 MHXISHHSA=0l& 129,000 71,880 57,120
01 XM A=LE L 129,000 71,880 57,120
Od7=&8F £X 129,000, 000 129,000
HEXNEH 22 894,345 865,080 29,265
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SA BB (SH) - NRAY - B Ol At o %@ﬁ HRE2
201 Bt 601,000 698,000 A 97,000
01 AP 22| H| 51,000 54,000 A 3,000
OGN TEHSH(0lAEZ) 51,000,000 51,000
02 2324 550,000 644,000 A 94,000
O22322 % HA 150,000,000 150,000
(@FaR=IR=DNE:] 400,000,000 400,000
202 04d| 29,750 37,080 AN7,330
01 2Ll 8,500 9,000 A 500
O RNE L =prsA T2 (0 AR
8,500,000 8,500
02 NI 21,250 28,080 A6,830
O RESSH=S (0 AHEZ) 21,250,000 21,250
308 MXISHMSOIA 83,595 0 83,595
12 JIEt82 S =2 83,595 0 83,595
OS8HHY =2 EX=2 83,595,000 83,595
401 AlEHIZL 2 0HY| 180,000 130,000 50,000
01 Al&H| 180,000 130,000 50,000
O RN EIl4=2lt| 180,000,000 180,000
HAEAELD HEAIAE 2= 79,690 102,121 N22,431
= 61,300
& 18,390
403 XX SHHS K20 & 79,690 102,121 N22,431
= 61,300
& 18,390
01 MXSHHE2E =X 79,690 102,121 N22,431
OHKAID HEAAE 2= X & 79,690,000 79,690
= 61,300
&< 18,390
TEA HUXEZ EHEZ2 434,200 439,400 N5,200
= 334,000
= 100,200
403 XX SHHM S X201 A 434,200 439,400 N5,200
= 334,000
o= 100,200
01 XS A=2E X 434,200 439,400 N5,200
OkL&:JI& - &dl, 88l4Xl - WA K&
434,200,000 434,200
= 334,000
= 100,200
MBHNLAHRES 1,015,714 237,000 778,714
= 900,000
o= 115,714
308 AMXISHMSOIA 1,015,714 0 1,015,714
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SN FHE - B(SA) - MEAY - BHES Ol &+ o4 SSa HlmE2
= 300,000
< 115,714
01 IXNHHBNEES 1,015,714 0 1,015,714
OXEE MEHY 7 23 1,015,714,000 1,015,714
= 900,000
< 115,714
NLEIRS S8MY 2= 870,570 0 870,570
= 512,100
< 358,470
403 XIS E X201 & 870,570 0 870,570
= 512,100
< 358,470
01 AXSHMA=2E X 870,570 0 870,570
OdgdEzRE =8 M2 2= 870,570,000 870,570
= 512,100
= 358,470
=M E BS54 15,240,640 16,131,201 A 890,561
= 3,227,300
< 11,743,340
£ 270,000
AR EE Y 124,000 230,000 A 106,000
308 XXM SOOI 24,000 30,000 26,000
01 AXSHBLELS 24,000 30,000 26,000
OHBME ZHALY 24,000,000 24,000
403 XAXISHM S K201 A 100,000 200,000 A 100,000
01 XM A=2E X 100,000 200,000 A 100,000
ooz &aiHd 100,000,000 100,000
ot JleE A 731,520 562,100 169,420
308 XXIEHSO0IA 374,200 277,050 97,150
01 IXNHHEBANEES 374,200 277,050 97,150
OW=a=2 MEfH wet, s X
235,600,000 235,600
OU=d sHEF XA 20,800,000 20,800
O=Z=Z3stAtY 22,800,000 22,800
ORENHE Z&EX EXAMS 50,000, 000 50,000
OMEIH net 3 & X MY 30,000, 000 30,000
s dHLF 15,000, 000 15,000
403 Ut E X201 H 357,320 285,050 72,270
01 XM A2EER 357,320 285,050 72,270
OW==8 AIZ J|BHAIA 164,000, 000 164,000
OU=9 LA X SUs(0aEZ) 89,320,000 89,320
Oul=8 HE3MNA 20,000,000 20,000
OU=8 3d & JI2UH 64,000,000 64,000
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2N
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SN BA(SA) - MRAY - BES 0l &t o il HImEET
Oz&el otd & &X 20,000, 000 20,000
HAAD|BIE Y 2,063,000 2,431,000 A 368,000
308 XXM SOl A 1,134,000 1,497,000 A 363,000
01 IXNHHBNEES 1,134,000 1,497,000 A 363,000
O HaXA 480,000, 000 480,000
O2alxptE Mol28= XA 144,000, 000 144,000
OMEAHE & =4 160,000, 000 160,000
Odiar Maletd =4 XI& 320,000, 000 320,000
OL+It HE FAY SAWL A
30,000, 000 30,000
403 X SHHSA=0l& 929,000 734,000 195,000
01 XM A=E X 929,000 734,000 195,000
O= &3 ANd XA 160,000, 000 160,000
OFa dAHE JIBtAIE X& 110,000,000 110,000
Ooll & ItFel A E A& I S KA
96,000, 000 96,000
OSTHHLE SEXE 240,000,000 240,000
Ol &y A SHEXIE 2 At 2t
16,000, 000 16,000
Oz sS4z 43 22A4 X2
206,000, 000 206,000
OZ SitHedE s4X 101,000,000 101,000
SO AL (M EAY) 3,555,000 3,490,911 64,089
< 3,285,000
g2 270,000
308 XtXIEHHSOIA 855,000 800,000 55,000
113J2SoHUHSI S HAE ALS I 855,000 800,000 55,000
OeBH=R X 2el 405,000, 000 405,000
OHIUSZ b= S8 sX2e
250,000, 000 250,000
Oolsg=x4d 200,000, 000 200,000
401 Al HI L 2 THYI 2,700,000 2,690,911 9,089
< 2,430,000
£ 270,000
01 A& HI 2,697,000 2,687,911 9,089
OBAHE=E XA 2,697,000, 000 2,697,000
< 2,427,300
£ 269,700
03 A& 2 THHI 3,000 3,000 0
OUBAHEZEX ALY 3,000,000 3,000
< 2,700
2 300
=2 U2 350,000 300,000 50,000
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SA - BB B (BA) - MM - BHES Ol &+ o4 SSa HmEET
= 350,000
403 MtXISHHSA=0l& 350,000 300,000 50,000
= 350,000
01 XM A2E X 350,000 300,000 50,000
On=2 e NIAAY 350,000,000 350,000
= 350,000
SASI2e (MEA) 2,513,250 2,513,250 0
308 XXM SOIA 2,513,250 2,513,250 0
01 IXNHHBANEES 2,261,250 2,261,250 0
OSSR E= 2,261,250,000 2,261,250
1132 SHUHSILEAEALSH 252,000 252,000 0
OBSUHLYREHIZA 252,000,000 252,000
BANE Hel(A2ZA)(MEAIY) 1,629,750 1,629,750 0
308 XXM SO0 A 1,629,750 1,629,750 0
01 IXNHHBNEES 1,629,750 1,629,750 0
oAz Fat 696,000, 000 696,000
OAHEBFBEILZ HXI 778,125,000 778,125
O=&s MEH &3 155,625,000 155,625
JEFREES 162,900 777,510 A614,610
= 126,700
< 36,200
403 MtXISHHE X201 & 162,900 777,510 A614,610
= 126,700
< 36,200
01 XM A=2EE 162,900 777,510 A614,610
Oz EdRHE B 162,900,000 162,900
= 126,700
S 36,200
U XNES (I EEE) 960,000 2,240,000 A 1,280,000
= 900,000
< 60,000
403 A X EHHS 20l A 960,000 2,240,000 A 1,280,000
= 900,000
< 60,000
01 X ESHMA=E L 960,000 2,240,000 A 1,280,000
O3RN 22 960,000, 000 960,000
= 900,000
= 60,000
SOHMES2HMAIL (B2H) 41,300 41,300 0
= 35,000
= 6,300
308 XX EHHSOIA 41,300 41,300 0
= 35,000
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2= AKX b
HE: M9 B B
gl =M 25 - 84 (cho &)
(o
SA BB (SH) - NRAY - B Ol &F o4 ﬁ}lgﬁ HRE2
= 6,300
01 AIKISHHENEXZ 41,300 41,300 0
OSlMES (%) MA 41,300,000 41,300
= 35,000
o= 6,300
GlOHHICI S H XA ALY (2R E X H) 240,000 690,000 A 450,000
308 ANXISHMSOIA 240,000 690,000 A 450,000
01 HXHHIMNEEXTZ 240,000 690,000 A 450,000
OHoHHIOIS & X4 AIY XI& 150,000,000 150,000
OArtASE AR ZHALY 90,000,000 90,000
MITHO SRR (HEAIY) 395,600 372,730 22,870
403 XX SHHS K20 & 395,600 372,730 22,870
01 MXHHMAEBE = 395,600 372,730 22,870
OXXIoHue(ItSFelAlE S s A
395,600,000 395,600
UAHEXSSIAIE EHI XS (HEAY) 186,000 186,000 0
403 XX SHHS K20 & 186,000 186,000 0
01 XIS AZ2E X 186,000 186,000 0
OSAMHEXNSTAIE &X 186,000,000 186,000
HEWHETH A 1,625,820 0 1,625,820
= 1,440,600
= 185,220
403 XX SHHS K20 & 1,625,820 0 1,625,820
= 1,440,600
& 185,220
01 MXHHNE2BE = 1,625,820 0 1,625,820
OUHESH=(Z0IS) THA AL 1,625,820,000 1,625,820
= 1,440,600
= 185,220
HE MHEZS 162,500 81,250 81,250
= 125,000
o=t 37,500
403 XX SHHS X201 & 162,500 81,250 81,250
= 125,000
o 37,500
1 AXSHHA2E R 162,500 81,250 81,250
OHEIME = 162,500,000 162,500
= 125,000
& 37,500
HENWE THHAS 500,000 0 500,000
= 250,000
= 250,000
308 XX EHSOIA 500,000 0 500,000




AN =T D
HE: M9 B B
SR A4TE 25 - 84 (29l 8)
= _ — d =
A FB B (EN) - HRAY - BES 0l &t o il HImEET
= 250,000
= 250,000
N 3JN2SUHUSBAHAE AR 500,000 0 500,000
OFFUE THAAY 500,000, 000 500,000
= 250,000
< 250,000
HE-01E Y 65,739,393 41,354,532 24,384,861
= 46,552,040
< 19,187,353
ANXRAM2el (X)) HgH- (A& (HEAIY) 10,618,750 10,613,750 5,000
401 AIEHI L 2 CHYI 10,618,750 10,613,750 5,000
01 A& HI 10,598,750 10,598, 750 0
oxgog A4 10,598, 750, 000 10,598,750
03 AIE 2 THHI 20,000 15,000 5,000
OXgoig A4 20,000, 000 20,000
Hag2+=22X& 950,000 950,000 0
403 XS E A0l & 950,000 950,000 0
01 XM A=2EE 950,000 950,000 0
Ox2ng x84 K& 950,000, 000 950,000
LM QLI AX(HEAY) 263,590 300,000 236,410
403 XIS E X201 & 263,590 300,000 A 36,410
01 X SHHAN2E= 263,590 300,000 236,410
OAgod 1)l & 263,590, 000 263,590
SEHIs 2L LAE X (HMeA) 1,353,561 1,372,560 A 18,999
403 A X EHHSH=01H 1,353,561 1,372,560 A 18,999
01 X HHMA=LE L 1,353,561 1,372,560 A 18,999
O=gthlls R&un A4 1,353,561,000 1,353,561
HERE A 1X 10,068,304 27,503,222 N 17,434,918
= 8,922,000
< 1,146,304
403 X SHHS =0l & 10,068,304 27,483,222 A17,414,918
= 8,922,000
< 1,146,304
01 HIXSHMA2E X 10,068,304 27,483,222 AN17,414,918
O E=E300AHS 10,068,304, 000 10,068,304
= 8,922,000
< 1,146,304
HESE A 2% 42,468,188 0 42,468,188
= 37,630,040
< 4,838,148
403 XIS E X201 & 42,468,188 0 42,468,188
= 37,630,040
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& 300At

=L
[

ool

300AHE

ull
Ik
)

80
0B
oJ
oll

-

n0
&
<

Kt

ki)

17,000,000

Ao

E)
oF)
<
<+

R0
30
U
RO

(s

30
0B
ol
oll

01 At2 22l bl

42,840,000

202 o4 Hl

01 SLHOHI

42,840,000

KJ
KF
ok
ol

4,560,000

|
110




